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General Instructions :

1. The question paper consists of 2 sections - Section A (having 27 questions) and Section B
(having 12 questions).

2. All questions are compulsory.

3. Thereisno overall choice. However, internal choices have been provided in three questions

of 2/3 marks category, and all the six questions of five marks each.

All questions of Section A, and Section B, are to be attempted separately.

Questions 1 to 4 in Section A, and Questions 28 and 29 in Section B, are multiple choice

questions and carry 1 mark each.

6. Questions 5 to 10 in Section A, and Questions 30 to 32 in Section B, are very short answer
type questions and carry 1 mark each.

7. Questions 11-16 in Section A, and Questions 33 to 35 in section B, are short answer type
questions and carry 2 marks each.

8. Questions 17 to 23 in Section A, and Questions 36 and 37 in Section B, are also short answer
type questions and carry 3 marks each.

9.  Question 24 to 27 in Section A, and Question 38 and 39 in Section B, are long answer type
questions and carry 5 marks each.
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SECTION - A (@3-37)

1.  The audible range of sound, for human beings is

(@) below 20 Hz (b) from 20Hz to 20,000 Hz

(c) from 20Hz to 2kHz (d) above 20,000 Hz only

A St & fod gavfta eaft &t sgh

(a) 20Hz ¥ %7 HT T 2 (b) 20Hz ¥ 20,000Hz T eIt 2l
(c) 20Hz¥ 2kHz T% &t &1 (d) 20,000kHz ¥ sk T Bt 2|

2. Which is the largest planet of Solar System?

(@) Mercury (b) Mars

(c) Jupiter (d) Earth

GR Heedl 1 G 921 U8 hiT q 872

(a) 99 (b) =

(c) geEfd (d) gt
3. Ametal, having a low melting point, is

(@) Iron (b) Copper

(c) Caesium (d) Gold

= o ¥ %7 el ool o1g iAW e?

(a) (b) sl

(c) wHifszm (d) 9

4. Which of the following is a chemical method used to purify water?

(a) Filtration (b) Boiling

(¢) Chlorination (d) Decantation

ot 1 gIfger @t T ot o @ wm @ fafy e wats fafy 22
(a) T (B, fheelm) (b) SETeHl

(c) AR (d) Meme (Freamrom)
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Interface

A ray of light enters from medium I to medium II as shown in the diagram. Which
of the two is an optically denser medium?

< T o3 o g & fRol ot weEm 1 9 Wesm 2§ S ge femen @
T 3 H R mrerm w1 e s (e ) fie €2

Alternative question for visually challenged students in lieu of Q. 5.

gfte guifaa faenfoft & faw wd. 5 o1 Serfeass w9

How does a ray of light bend its path when it goes from an optically denser medium
to an optically rarer medium?

Sd YR 1 Wek Torur, fordl) stferer gepmelia smea (adeshal e==dt) o1t weam
Y A YR S ol HieAd | gfo gl §, 9 98 A9 AFl e YR 9
Hrgdt 772

6.  Identify the part, which vibrates to produce sound, in the following instruments, :
(@) drum (b) sitar

~

frefafed Syl & S8 9 &1 99 fafeu 59 01 & wro e

IO Bl 2
(1) | () fEar

7. Name two objects, other than planets, which are members of the solar system.
Tl % sfafem 9 Hea & fREl o @ weel & AW fafem
8.  Give the meaning of the term : "Water pollutants".

‘ST gk’ U8 T 31 FarEy)
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9.  What name is given to the elements having properties of metals as well as non
metals?

“urgetl’ wa ‘erergel’, SHl % TN aretl axel Wl fRE AW W S S @2

10. Silver is a good conductor of electricity but it is not commonly used for electrical
tittings. Why?
o< faga & % TS ook © W MR s9eR gam fagm fefen o
T fopan s 21 A

11. Speed of light in some media are given below :

Medium Vacuum Water Glass
Speed of light in km/s 3x10° 2.25%10° 2x10°
Which of these media is having the
(i) highest optical density? (ii) lowest optical density?
O WA W GRS HH A T TR
HIETH A STl QiTem

weTol &t T (A ufa & #) | 3x108 2.25%10° 2%103

T U fog "oy 1 YRRt o
(i) offeehad @ (ii) = 2l

12. A student has difficulty in reading the black board while sitting in

the last row. Name the defect of vision which the student is suffering

from? Name the device that can be used to correct it.
e femnefl w1 wen o ifqm dfem § o9 W vEm Yed W foren yed o e
el 81 o fomnef fm sfic <iw @ ywifed 22 3@ <9 & gura & fo@ fod

USR] kT IYANT fohaT ST Tkl %7

13. (a) What is a constellation?
(b) Identify the following constellation.
(37) dNHEA F1 B 7?2

(9) foa ¥ fcea™ ™ duHed & gg=nta|
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Alternative question for visually challenged students in lieu of Q. 13(b)

gfte gunfaa faenfofat & fom wd. 13(b) o1 Serfeash w9

(b) Name the constellation which is visible during winter in the early part of the
night.

() 39 IRHed H1 AW fafen s wid &g § T & IRis 999 ° e
dt 2l

14. Name the metal which is

(@) wused in dentistry

(b) mixed with gold to make it hard
39 91g 1 AW faten e g=m
(a) =9 fafeca o

(b) 9 I HeR a M H

feran st 2

15. We prefer to use utensils made up of stainless steel rather than iron. Give any two

reasons for this choice.
LA Wil & oAl bl R W o9 Sl 9 371 HE S €1 39 WA @ g
T l3 g %R fafem)

OR (A4l

Name the alloy used for making magnets and write the names of the metals used
for making it.

T 9 ° YgE H arelt s urg @1 AW fafew) sget s e ¥ Tgea g
arell &gsT & AW o fafeu)

16. Classify the following into : "thermosetting" and "thermoplastic" :
Nylon, Bakelite, Terylene, Polyethene
FrAfatea = ‘ oHEfen’ Tam - oHraes | gfo™l | il hifag
IZe, dehalige, e, dreieiH

17. (i)  Define principal focus of the lens.
(i) Draw a ray diagram to show the formation of the image when the object
is placed between the optical centre and focus of a convex lens.
(i) <@ & vq@ &% (THfare wed) =i it s
(ii) fordt a&q *l Tk 3T A & YR &5 (Mufena GR) ad1 Fhd &
e @ T B O BN SAIC MU TW 9% % ufatas & fod Yt
ERIEM
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18.

19.

20.

Alternative question for visually challenged students in lieu of Q. No. 17(ii)

(i)  State the position, nature and size of the image formed by a concave lens.

gfte wunfaa faenfofat & fom wo 17(ii) o1 Sehfedsh w9

(i) rode ¥ g1 94 ol Yidfesl i Wepfd, ST qen feofq & an o
fafem|

(@) A mosquito is producing sound by vibrating its wings at an average

rate of 500 vibrations per second. What is the frequency of this sound?

(b) Define the term 'amplitude' of a sound, Name the characteristic of a
sound that is related to its
(i) frequency (i) amplitude

(37) Tk TERX I @ IWH q@l ® 500 wIH ufd dfhe ® HEE H FRO
21 39 = Hi g «qEy)

(9) ‘= & STEM (THeliege) ' 98 i IR wifse) et st 39 ot
&1 A fafee s
(i) 3! Tfa (i) SH®H MM
¥ grafua B 8

Suggest any three measures to control noise pollution in your locality.

A &3 H UR Y5yl Hifhd & & o i i 3 gEred|

Write briefly the functions of the following parts of ear -

(@) Pinna

(b) Auditory canal

(c) Auditory nerve

Haq § ®H o = dF 9r & s fafen
(31) o=

(9) g grafua ant (enfesd &)

(9) gavl rafd dfaee (smfeed =¢)

OR (AY4T

(@) What is ultrasonic sound?

(b) Differentiate between noise and music

(31) THe A (STeIEe wa) w1 31 872
(9) TR qen 9d o TR dd3u|
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21.

22.

23.

24.

(a) Distinguish between artificial satellites and natural satellites.

(b) Write any two tasks performed by artificial satellities

(31) HH T Whfds IWE § TR FaRy|
(3) Hfdq STl g7 fFd SH ot i I F1 aqE)|

One day Sarita went with her friends to play in a park. In front of the gate, she saw

a heap of garbage containing polythene bags. Stray animals were eating from the

garbage. She immediately took the necessary help to stop the animals from eating

the garbage and to get the garbage cleared.

(@) Why did Sarita think of stopping animals from eating that garbage?

(b) State the values displayed by Sarita.

(c) Suggest any one measure to control the damage caused by plastic waste.

e T e o= o & 91 e | ©o & o T a@ sEH e o U &

§N % 3 HE 1 o UG §A | AHUE YA © H3 SHeR SH Hg H I8 T

Hifafer gl il @1 W® 1 AT 7 G TEvad Heddl Al SHedl i 39 e

F T ¥ THaAE AR HT F X H T6l Y g

(37) IRt 4 SFeRl i 39 %K F @H § Yhd & R H H F=1?

(&) aftar g yefela + < ufages fafem)

(9) =fiesh %/e ° B orel 84 & diffd &d & fod &8 T 399
REIERT

State three measures that can be taken to control pollution caused by sewage.

fefad #a (Fes) § W o 98U & Hifd &E & &E dF 3UE
fefem)

(@) A beam of white light falling on a glass prism gets split up into seven colors

marked 1 to 7 in the following diagram.
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Which position corresponds closely to the color of :
(i) abrinjal?
(ii) danger, (or stop) signal lights?
(b) What is the cause of such dispersion of white light?
(c) Name one natural phenomena associated with dispersion of light. When

do we observe this phenomenon?

(37) 39 1 Fow o IR 1 ® et vaq genfa for s &l 9@
Haedqel g d A g @l & fod 1 9 7 a9 3% fK@® ™ 2

T 9 &A% w1 frofa
(i) s
(ii) @R, (I TH4) & 39 God arcd JehmT,
& 1 Y stk firerdt @2
(9) vad YT % 3H FhR & faewe (feeawi™) &1 &R0 #41 272
() Yo YT & 36 YR o foera ¥ waf-+a T Wpfas 399 &1 W fafeu)
T IE UIHidh T3 %9 3@ U &7

OR (34l

(@) A pond appears shallower (less deep) than it actually is.
Name the phenomenon that causes this and give one more example based
on this phenomenon. State the two rules for this phenomenon.

(b) Give any three applications of lenses in our day to day life.
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25.

(a) BH U & i H TEUE ITH! Ardfad TS ¥ FH Nl 2
T B & RO STl Yiman w1 9 fefen oK g6t yfswan @ stnenfid ueh

oo~

A IR0 o Al 39 Uik § gt o fam fafem)

(b) TAR Tk Sfad § oGl & *IE o9 STAN Fard|

(@) Draw a diagram of the human eye. Label any four parts of the Human
eye on your diagram.

(b) It takes some time, to clearly see objects in a dim room, when you enter
the room from bright sunlight outside. Why?

(1) A T 1 fod S I9H 39 his IR AE Sl L@ifhd (Tee)
EAIE L

(9) V& TH STeR i a9 49 ¥ fRet 9 yhed FR § o € f 79 @i H
Ul HP GG oI5 € TR 3@ UMW 21 UH b e 22

Alternative question for visually challenged students in lieu of Q. No. 25(a)

(@) State any three of the ways that are needed for taking care of our eyes.

gfte gwifaa faenfefa & faT o 25(a) o1 denfeass woa
(37) AFEE STEl i IEAA & o STEwdsd IURl | g diF su fafem|

OR (3¥4d)

(@) What is meant by power of accommodation of the eye?

(b) State the (approximate) distance of the (i) near point and (ii) far point, from
the human eye, for a eye with normal vision.

(c) Name the part of human eye which acts as a screen to obtain the image of
an object.

(d) Name the system used by visually challenged persons to read.

(a) 3@ ® TIhad (WHMESHE) o (TER STH THMSIH) &
a1 €7

(b) WM gfte arelt AFatE @ & (i) Fehean 99 f95 (ii) eifuesan 399
fag, 1 i@ ¥ 5O () fopat it 272
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26.

o

(c) AFEE @ & 39 9 &1 4 fafeaw St sgatl & fafawi ol 9 &
% fo@ T 9© &1 w1 w2
(c) 3fie ywifaa =afeaal g0 U & o wgaa &t w1 aren fafy &1 9m

fafem)

A metal 'X', when ignited, burns with a bright white light and forms a white

powder. When this white powder dissolves in water it turns red litmus to blue.

(i) Identify metal 'X' and the white powder formed.

(i) Write down the balanced chemical equation of the reaction involved
when metal 'X' is ignited.

(iii) Why does the solution of the formed white powder, in water, turn red
litmus blue?

(iv) Name two metals which do not react with water at all.

T O ‘X', T 9 a9 W, Yo Yod YW 3d gU UH TS qHel o

T B T8 WS Ul UM Sl SH W ol ferend @i e < @l

(i) g ‘X', 9o IFH I dlel g USel, o M fafeu)

(i) &g ‘X', % SO IH W 3H Al WAMAE gk ®i ddfad WRfe
Tl (Scigre SHiwd sReH) fafem)

(iii) S BT HHE WSS 1 U A Hiel Aret ferewd shi el & o <1 272

(iv) & UHl wrgefi & W fafee St S 9 i 9fshan &1 2l

OR (441)

Differentiate between metals and non metals on the basis of :
i)  Melting and boiling point
ii) Lustre

(
(
(iii) Malleability and ductility
(iv) Thermal conductivity

(

v) Hardness
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HIqeTl T e H Soh/3eh!

(i) TIeTieh Tl SFAleh

(ii) =¥k

(iii) 3mmema e (Seafaferd) e a=ar (e )
(iv) SO Feish a1 a9 draehdl (UHaA hrediiae)
(V) m

& YN W A IqEy|

27. (a) Whatisrayon?
(b) Name the raw material used in the preparation of Rayon
(c)  Why it is some times called regenerated fibre?
(d) Give two uses of rayon
(31) ‘@’ w22
(9) @A R ¥ Yo BH a1 sed g (W AfefEaa) w1 am fafem
(|) @Ml wef-wedt gt W (Remfee wrR) & wer s 22
() ‘@A’ & T 3w fafen)

OR (YD)

Give reasons for the following :-
(@ (i) Nylonisused for making socks.
(ii) Acrylon is used for making blankets
(iii) It is always advisable not to wear synthetic clothes while working in
a kitchen
(b) Write any two advantages of synthetic fibres
frfafea & wRo 9dE
(31) (i) TEAA WS (SRIE) 99H &% M A B

(ii) UaRa S S o HIH AT 2

(iii) TE ¥ ®M & THF HAH q@ B IGAN T HA gfgHar qoi
. 2
() HH Tl & i A A9 IqR6T
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SECTION - B (@3-9)

28.  Which of the following process is used to separate grains from the chaff?
(@) Threshing (b) Harvesting
(c) Weeding (d) Winnowing
frefafeaa & @ - fFaea & w9d & I B g8 F ST FH b

fAT YA e 272

(a) of¥m (b) e
(o) frg (d) wHM
29. Reproductive age in women starts when their
(@) menstruation starts (b) breasts starts developing
(c) body weight increases (d) height increases
Agfehal H A &7l T a9 IR Bl € S
(a) TSI Y& & = ? (b) Tl o1 faepmd YE & S ®
(¢) vMiRer 9N =gar @ (d) ifier e sed €

30. State one measure that can prevent the growth of microbes on stored grains?

qUSR Tl H AN ! geusial § gifad e & fau &g Te ITER Jasy

31. In which female reproductive organ does the embryo get embedded?

o1 A&l & foRe S e o Afa el @2

32.  Why do boys show Adam's apple in front of the neck?
Al T T GEA HSHU G 4 @t B2

33.  When should irrigation be done for proper growth of wheat crop?
T # wOA 1 gfg & fau fouE w1 sfea g9m wE-a @2

34. Name an animal that has
(@) external fertilization and external development.

(b) internal fertilization and internal development.
el T T Sig 1 9 Faee e
(37) o T iR o foehr @i @

(9) eTafer fu=r 3R offafier faem gidr 2
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35.

36.

37.

38.

A music teacher, on visiting her native village, observed that very many
children there, were very good at playing their home made musical
instruments. She felt that appropriate efforts would make these children grow
in much the same way as the yeast, or hydra, plants grow by themselves
through their buds. She decided to do her best for them.

(@) State any two values displayed by the music teacher

(b) Name the other two methods of asexual reproduction.

Tk Hiiiq et 4 ST Ygeh W WM W U TR o'l & g e o0 s
o T T SUSION W §Ed 31 GG oo ofd @1 SH Hien e yer #ve,
T SN, & WY I Pepell ¥ T € faskfaad 8 W @ s yehR 3 v
SR T aeal 1 off fokfaa foran s W 1 sER T feen | gumve yaw
IS ECTIRERERRERIN

(1) it forfarer g0 YsiRia g <1 gfaged saEu

() 3reifites woH 1 < 3R fafeal & W fafem)

Write any three advantages of ploughing the soil.

FY & fod gl 1 Teed T gl a9 & iz o ony fafam)

OR (A4l

Write any three methods of weeding.

i =1 o1 = fafar s

(@) Why does the yield gradually decrease if we continue to grow the same
crop year after year?

(b) State two points of difference between manures and fertilizers

(37) ©d H T & HHA kI 8 T4 I T IHh] ST ER-MN H7 = 2ran
S 87

(9) ©I% U IAHI H hlE I TR AR

(@) Define asexual reproduction.
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(b) Label Part A in the given diagram. Name the organism and its process

of reproduction
s

(c)  Which organism reproduces by dividing itself into two daughter cells?

(31) 3TN S i IR ity
(9) 7= foa o 9w ‘A 1 TEiferd wIfST) eiT T Sfta o1 AW T 3SR

To-q fafyr =1 9@ sarEu)

(F) ®F-91 e fgeied gR Jo" Ll 872
Alternative question for visually challenged students in lieu of Q. No. 38(b)
(b) (i) Give one example of an organism showing multiple fission.
(i) What do you call the small protuberance on yeast? Name the
method of reporoduction in it.
gfte gunfaa faenfofat & fom wv= 38(b) T dAenfcuss wos
(9) (i) T U@ e =1 <o s fSem sgeed gr1 goie glar @1
(i) = ¥ fawfod ed SUR #1 R 3Tl o fafyr & 1 #ed 7?2

OR (A4l
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(@) Name the organ where a sperm fuses with the egg.
(b) What is formed by this fusion and write its role (any one point) in the
reproduction process.

(c) Write any two functions of the female reproductive system.

(31) ST YA ST 1 A FAqIRY Sel Y1) SR SASTU] 1 FerEd Bial @

(9) 39 Horgd o forgem fmfor giar 82 worm fafa & soet gftem (1 #1E
T 9T fefem

(F) 9 & Yo 9o (Riedfes fawn) & g7 fod SH ot i 3 &

fafem)

39. (a) What are sex chromosomes? Why are they named so?
(b) Explain how the sex of the child gets determined?
(37) T o 0 e B2 TR 3H W ¥ F YHN S 22
(%) w9 o ot g o1 fefn frafor fve yem g @ - e shifsw)

OR (3441)

Why is physical exercise important for adolescents.

fpeil & ferd sifte = mewyel = 82
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